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Electrostatic Deflection of Electrons 
in an Oscilloscope Screen 

Express the deflection y1 in terms of K, E, and L. 
Hint: First assume electron’s initial velocity is v0, 
   then substitute for K at the end. 
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Electrostatic Deflection of Electrons 
in an Oscilloscope Screen 

Express the deflection y2 in terms of K, E, L, and d. 
Hint: First assume electron’s initial velocity is v0, 
   then substitute for K at the end. 
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Electrostatic Deflection of Electrons 
in an Oscilloscope Screen 

Express the deflection y2 in terms of K, E, L, and d. 
Similar triangles method. 
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